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Do not furn over this page until you are told to do sa,
Follow all Instructions carefully.

Answer all questions.

Wiite your answers in this booklet.

This booklet consists of 18 pririted pages.
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Section A

Quesﬁbns-“l to 4 cany 1 mark each. Questions 5 10.7 carry 2 marks each, For each
question, four options are given. One of them Is the correct answer, Make your choice
(1,2, 3 or 4), Write your answer in the brackets provided. - (10 marks)

1. What is four thousand, one hundred and sixty-two in numbers?

(1) 4621
2) 4218
(3) 4162
(4) 4062

2. What is:the product of 304 and 87

(1) 38
@) 2432
(3) 2512
(4) 2532

2.
MARKS: ’
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3. Lookatthe figure below. YWhich Tines are pefpendicular fo each other?

15 A‘?

(1) ABand AD
{2y AB.and €D
(3) AD.and BC
# ADand DC

4. Lookatthe figlite balow. Whatisthe ared of the fighre?

1 unit

{1) 78 square unils |
(2) T4 square urits
{3) 12 sguare uhits
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Mdin Sari left her house at 06 55. She took 1 h 15 min to reach her office. What
time did Mdm. Sari reach her office?

(1) 0800
2) 0810
(3) 0830
4) 05 40

( )

Paul bought 3 packets of sweets. James bought twice as many packets of sweets
as Paul. There were 27 sweets in each packet. How many sweets did James buy?

(1) 243
@ 182
3) st
(). 54

MARKS:




Segtion.E B

Guestions 8 to 11 carty 1 mark sach. Questions 12 to49 can'y % marks-each. Show:
-your wofking clearly and write your answers in; the spaces: provided. For quésttons
which require units, give youranswers inthe uﬂts stated. (20 mdrks)

8. Arrange the following numbers in increasing order.

[ 7140 . 7014 , 7104 ]

smallest frestest

9. ‘The bar graph shows the number of fruits:sold-at-a fruit stall.

Fruits sold st a fruitstall

12 ¢

Nurmer of fruts sold

Apples " Banarias Orsiiges Pears
Type of fruit

What'is the total number of fraits-sofd?

Anst
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10. Whatls4—8?

1. Lando bought'a toy. He gave the cashier $10 and recejved a change of $3.75.

How much did the toy cost?

12 A pencil case costs $8. A book costs $13 more than the pencil case. Caesar
bought 2 such books and oné such pencil case. How much monegy did Caesar

spend alfogether?
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Ans: $
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13, Draw a fine paralielto the:given line/fry the g

show that the fines are parallel.

1 unit I

1 Uhiit

14. The Tigure below shows the aim

{ptal amonntof water in 6-such measuring cups?

fid below, Use arrowheads (4 to-
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5. A soccer match started at 23 30 and ended at
duration of the soccer match?

01 08 the next day, What was the

Ans: i

18.
Books read by four pupils

Mira

Kumar

Pupils

Nora

De Ming &

min

The bar graph shows the number of books read by four pupils in a m{anth.

2]

Number of books read

(a) Who read the most number of books?

Ans: (a)

24
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(b} Mira read 3 fewer books than ?

Ans:(by_. .
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18.

Miridy gave away sone.

Fillin the bladks with >, '’ or'=".

5 cans of mushrooms and 7°packets:of seaweed; Mindy-gave away 35 cans of

mushrooms aftogether. How many packets of seaweed did she give away

altogether?
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18. There are 24 cars and molorcycles altogether. There is a {otal nuraber of| Do not
76 wheels. Each car has 4 wheels and each motorcycle has 2 wheea!s. How many| \write In
cars are there? °| s

. space




Section C

For questions: 20 to 28, show your’ workmg c:learly and writé your answers-in the
spades provided. The number of matks: avallabIe fs.shown in brackefs [ Jattheend

Ot each question or part-question.

(20 marks)

20, MrHoh had 972 satay. sticks. He packed the satay sticks:egually into
5 containers. How many satay sticks: were thera in 7 such containers?

Ans: @\
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21, Lionel wanted to ruh 1 km 50 m. He completed 2 rounds on a running track. Da not
Each round is 400 m. How much fuither did he have to rin? twh:jte in
13
space

Ans: 13f

12.

MARKS: {




D3, WirsiAfiya cutalong stritig into 4.equat parts. She then Used each pat to.form

a rectangular frams. Thedength of the frainé was 29 om-and its breadth-was

17 e

17 ém

29 m

(a) What was the perimietér of each rectanguiar frame?

Ans: (a)

{b) How lorig was the strtig?

Ans: (8] ..

@

.
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23. The ﬁgu‘res-befbéw are made up of identical sguares. The figures follow a pattern.

Figuret1 Figure 2 ' Figure 3
Study Figures 1,:2 and 3 above and the table below. .
Figure | 1 2 3 5
Number of shaded squares 8 | 12 16 . ?
(@)  Howmany shaded squares. are thers in Figure 87
Ans: (a) _ 2

(b)  Afigure has a total of 52 shaded squares. What is the figure number?

Ans; (b) Figure _ 2]

14

BP-463

Do not
write in
this

space

MARKS:




BP-464

24, Ryan had some mables. Ben had fourtimies as many marbles s Ryan. Doris | 7.5y
had 36 marbles more than Ben. Thethies childrét had 270 marbles aliogether. | yris
=€ space

(a) How many marbles did Ryan have?

An: (@) [2)

(6)  Rysin ad Ben detided to-share their marbles equally. How many
marbles did Ben give Ryan?

Ans B .. i

15 "
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25. At first, there were some adults and 500 children at the stadium. After another| Do not
612 adults ahd 300 children arrived, there were 3 times as many adults as write in
children in the end. ;h;:see
a

(a) How many children were there in the end?

Ans: (a) [}

(b) How many aduits were there at first?

Ans: (b}

12}

End of Paper
16

MARKS:
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SCHOOL CHIJ ST NICHOLAS GIRLS' SCHQOOL
LEVEL PRIMARY 3
SUBJECT MATHEMATICS
TERM SA2
|af @2 Q3 |o4 Qs Q6 Q7
3 2l 3 14 2 2
Qs 7014, 7104, 7140
Q% 26
Q10 |1
8
Q11 $6.25
Q12 1 book = $8 + $13 = $21
$21+$21+ 8 = $50
Q13
T undt
1 uni
Q14 1560L.
Q15 1h 38min
Q16 (a) |Nora
Q16 (b) | Kumar

Q17 (a)
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| Q17 (b) |
Q18

{49

Qe i

‘? 14 -é'ar_s

1 Q20

972+ 9= 108
108 x 7 = 756

1 Q21

{1km 50m = 1050m
1400x2=800 - -
1050m - 800m =7_250m

Q22 (a)

58 +34=92

| Q22 (b)

92 x 4 = 368

Q23 {a)

|28

Q23 (b)

Q24 (a)

270-36=234

1234+9=26

Q24 (b)

|26 x3=178

78 +2=239

Q25 (a)

500 + 300 = 800

Q25 (b)

800 x 3 = 2400

| 2400 - 612 = 1788
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